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4.  Answer any two of the following n:omaosm” oxm.uﬁ ! Candidates are requir ed to give their answers

i in their own words as far as practicable.
i)  Write down the gist of ~ cliall cn(m written by f p

faeal d in text. , :
s Lt i 1.. Answer any five of the following questions : 2x5=10

i) © What do you mean by “of,aall™? Write its

ii)  What do you understand about &uaail?

Define its importance in Islam. / .

, singular form.

) ,,Sa@ I8 gl ol Digwia pa plestite Sbont . : ii)  What do you understand by wﬁ: gl as you
his contribution in "Hadith". : ; i : _QE,:@

iv) Write the messages of Allah (SB) for the ;

i) WA e say "l J gy &2 03" Who came to
mankind as you read in &l yaall 8, 5. : mec_czm& (S. >vc What do you know m_ooﬁ o._.r
: e
5. Write a short note om the wo:oémsm@su\ one): @xﬂﬁ,. _ : iv)  What is the full name of “alus oL ¥1"?
D plaagl ; | ‘ V)  Where is ol aall § )3 revealed? How many _.wq
i) pllallpsas i 0 inthis Ly? |
i) gloadl on plus pleY! : vi) Who is the writer of " Jsall olawl” 2 Write the

ieaning of Jsall ErfL !
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vii)  What is the meaning of ;uasllsi"?Give

example.

viii) What do you understand bysa )l ds” and Sulsc

oasyll?
ix) Write the meaning of the following:

“saslall” fwalasll’

Translate into Bengali of the following (any two):10x2=20

1533ty Whgeuss A (s cyus T30a®s ¥ 1ol cuithh Lol ()

Sl i3 Y il il pgule el o Y
i any S ol 4 lyypas¥ 5 il Spe 35

ool ol - paas ¥ il (il baas ol Gand

Al cpasel ¢puilh el sl dlll Jguny sic ol gunl o gy

arbic jaf 8 00 ol (ssiill gyl

s gl gla dlth o) W gy JIB JE B 55m of e
oo Blall dlidlin llsh pafl ol agie p 3 1l
gl g ellns o Jinl oF a3 Lo cpad JI5 -Gl
$5580 0 gy JL5 o5 ) 1 15 L s labsd
oW i gsais oF (S o) e Jgb pi88 o)
ety sgals dlll cgial il el gl ool )T fpaladsy

Lgllaal Gopls e o 12l g s Yol ool

306/Arb. .

(&)

3

306/Arb.

[3]

Lgd o “olpealdal o Lowls (38 i bl JB° ()

s lelal iel 5 B30 “gling” T oSy “ola” L JI&s
JYLe 3 ecraly i ol 31a an i€y aljio padle
Qt_%&;ﬁbrwwvwr.&&hu:x,whﬁtrv,
“ sl b ougal aig ol s LS« le Laa
Lgel ye pol pabasil g clanas LiS 0l Ll aud o guc i
oLl gl b el 285 i
ol gl 3 25 bl a3
Lgias ulla i <ol gany Lgs Jlae g @l
iy 3" iy ol S35 240 Jl5 g yunc gl ile ST 3

Vi e e e i i

ion ia dllis siaci o Lib s 6 el 3 e

 eass sadesLORAl e Laly Gl

Al e Jo3il I o pubyg s Lo bl

Explain any two of the following: ~ 6x2=12
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